                            Итоговая контрольная работа 5 класс.
I. Listening
Послушайте рассказ “Jim” и выполните задание.
Отметьте утверждения, соответствующие содержанию рассказа «T(true)», не соответствующие содержанию рассказа «F(false)»:
Jim is a little crocodile. He is very nice, but he hasn’t got friends.
Rabbits don’t like crocodiles. They see Jim and run away. The rabbits can run very well, but Jim can’t run. He doesn’t want to be a crocodile. He wants to be a rabbit.
Frogs don’t like crocodiles. They see Jim and jump away. The frogs can jump very well, but Jim can’t jump. He doesn’t want to be a crocodile. He wants to be a frog.
Birds don’t like crocodiles. They see Jim and fly away. The birds can fly very well, but Jim can’t fly. He doesn’t want to be a crocodile. He wants to be a bird.
Now Jim has got a friend. It’s his little brother Dan. Jim and Dan like to play games and to swim. Jim can swim very well and his brother can swim very well, too. Now Jim doesn’t want to be a rabbit. He doesn’t want to be a frog. And he doesn’t want to be a bird. He wants to be a crocodile.
1). Jim is a little green crocodile.
2). He is very nice.
3). He has got many friends.
4). Rabbits, frogs and birds like crocodiles.
5). Jim can’t fly.
6). Jim can run and jump.
7). Jim wants to be a bird.
8). He has got a friend now.
9). His friend is his little brother.
10). Jim and Dan like to swim and to play.
11). Dan can’t swim very well.
12). Jim wants to be a crocodile now.
12 баллов
II. Reading
Прочитай рассказ и ответь на вопросы (выбери правильный ответ).
                                                                My family.
There are four of us in my family: a father, a mother, younger brother and me. My father’s name is Vladimir, he is a bus driver. My mother’s name is Natalya, she is a  teacher. My name is Alexander, I am in the fifth form and I go to music school. My younger brother’s name is Andrey, he is in the first form. I always help him to do homework and I look after him while my mother and father are at work. We like to play ball and watch  TV. We go fishing together with father. After that, our mother cooks delicious fish soup. If we have time to spare, we always spend it together. We like going to the cinema and walking in the park. In the summer, we go to the river for swimming. In the winter, we go skiing and skating. My brother and I always help our parents. We wash up dishes and sweep the floor. Moreover, we tidy our rooms ourselves. My parents are the best! Our family is very nice and happy.
1. How many people   in Alexander’s family?
1. There are five.
2. There are six.
3. There are four.
2. What is his father’s name?
1. His father’s name is Alexander.
2. His father’s name is Vladimir.
3. His father/s name is Andrey.
3. Is Andrey younger brother?
1. Yes, he is.
2. No, he isn’t.
3. I don’t know.
4. What does mother cook?
1. Mother cooks delicious fish cake.
2. Mother cooks delicious onion soup.
3. Mother cooks delicious fish soup.
5. What do they do in the summer?
1.  They go skiing and skating
2.  They go swimming.
3.  They wash up dishes and sweep the floor
5 баллов
III. Grammar
Выбери правильный вариант ответа.
1. Я родился 31 июля.
1. I was born on the thirty second of July.
2. I was born on the thirty first of June.
3. I was born on the thirty first of July.
2. I    … not  go to school on Saturdays .
1. Do
2. Does
3. He … not go to school on Sunday
1. Do
2. Does
4. There ….. a stadium in my area
1. Is
2. are
5. There …. two shops in my area
1. is
2. are
6. There …. two shops and hospital in my area
1. is
2. are
7. There  …  a supermarket in my area
1. is
2. are
                                            7 баллов
MARK
«5» - 24 - 22 балла
«4» – 21 - 17 баллов
«3» - 16 - 12 баллов
                                                                  «2» - 11 - 0 баллов
Key to test
1.  Listening
1 – T;  2 – T;  3 – F; 4 – F;  5 – T;  6 – F;  7 – T;  8 – T;  9 – T;  10 – T;  11 – F;  12 – T.
2.  Reading    

1. - 3          2. – 2      3 – 1     4 – 3     5 – 2 

3. Grammar
1- 3    2 – 1   3 – 2   4 – 1   5 – 2   6 – 2    7 – 1

